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Dihedral angle on a mesh
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* The dihedral angle is the angle between two
planes.

* If you know two normals of plane, cos(0) =
(n1en2)/(|n1||N2|)



Definition of dihedral angle
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» The definition of the dihedral angle is 81[1].



Definition of dihedral angle

» The definition of the dihedral angle is 61 [1].
* If you have a mesh, 0 is the dihedral angle.
* They are not the same.
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Dihedral angle

* You need to flip one normal for 0.
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Dihedral angle
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* You need to flip one normal for 0.
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* If n1=n2, there should be no angle, (ni*nz2) =1,
then 6=0. (n1,nzare normalized.) But here 6
should be r.
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A small pitfall about dihedral angle

* Need one normal flip on a manifold mesh.

* Then you can correctly compute the mean
curvature over the edge integration [2,3].

 (This memo is motivated by a stupid mistake |
made. How | was surprised when | saw a plane
mesh has large mean curvature!)
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(This is not so rigid research report. So, please let me know if
there are better references to be added.)
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